[ Efficiency vs vertpos |
~ 0.7

20.09F

2
20.08F

(&)
$0.07F

O
£0.06F
0.05
0.04
0.03
0.02
0.0
o)

Ratio
-
=

11111
TooUoog

—— -y N T fla:a'a'i- LUII eom
Efficiend —=— chi EHSF —sTe %%
—_— Chi uar
N 0.2

e A e S S
n E : : : : :
U R S

coc

) C : : : : :
o R R S
S F : ¢ : :
£0.12-- P e A prrenees
o E : : : :
0.0~ e e SR FAb b g
O S SRt S IS S

L RIS A | SERE A

L 77, 1 S

0.02F e cbeerenes g.#_
o l(l:||||I
3 E i
I R L
] S N
083 —=20 =10 10 5 2

TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.2 - : " T T T
o
Tt O L o o
>014_ AR AR S S S
A
O U W -
0.08F : : : : : :

0.06F
0.04F : i : ;
L B A1
104 | . . . . |

efficienc

Ratio

0 =15 =10 -5 0 5 10 15 20
Sim. PV z (cm)




	Contents
	Page 1


